Name: Multiplying lots of 10 by a single digit number - missing number (Skill 67)
Multiplying lots of 10 by a single digit number (missing number)
1) 50x___ =100 11) 80 x =240 21) 50X =250
2) 20x __ =140 12)80x =720 22) 10x =50
3) 70x___ =210 13)30x =30 23) 60X =120
4) 60x =240 14) 30x =150 24) 80x =720
5 90x =810 15) 60 x =180 25) 90 x =360
6) 90X =90 16) 60 X =540 26) 80X =560
7) 10x___ =80 17)30x =120 27) 90x =360
8) 60X ___ =60 18) 20x =160 28) 70x =140
99 30x___ =90 19) 60x =120 29) 10X =60
10) 40x =120 20) 90X =630 30) 40X =160
Answers, fold under: Mark your work when you have finished.
1) 2 6) 1 11) 3 16) 9 21) 5 26) 7
2) 7 7) 8 12) 9 17) 4 22) 5 27) 4
3) 3 8) 1 13) 1 18) 8 23) 2 28) 2
4) 4 9) 3 14) 5 19) 2 24) 9 29) 6
5 9 10) 3 15) 3 20) 7 25) 4 30) 4
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